Righes fea Intelleciaal Properry Kights todp None of these
26, Papand the weem DK ax used 10 Banking seetor:

[t Ceedir Debe Review (h) Corporate Debl Revicw (g}
Credit et Boepaemuent (dp Bome af these

27, Ax ey Found Bill, hew much guantity of foodgrain
Lo kg per nunth skall bee maade svgitable 1o bonsehold
under “priouiny’ categary!

12 5 0hh T el 10 Gdy 82

2%, Which onre of the [liwing foreien currenvivs
constituee  highest cumency composation ol Indian
ddehe

(1 TIS Dndlar (h) Yen () Euwrw () Found Sterling

29 Which of the follvwing countries is ot a memebr
ul Ci-87

{wa Tndia (b) Rossia (oh France (d) Canada

3 Whar dees the amn CAAY T demote which is dhe
shart Farm of a social scheme Taanched by the Gove, of
Inchia”

) Anrodaya Awis Yojana (b Anoduya Anna Yojuna
(1 Anna Awas Yojuisy (dy None of these

31, Who among the following 15 one of the epury
Caovernors of the RBIY

{ar LK Sinha b Rangan Mathai (er Subic Gokarn ()
5. Ahluwalia

¥ Whwh ol the  fedlsaang  orgumsaiimns Qs
extabiished  mminly o promoie Mices, Small and
Melediaan iduserial secior ay anda?

{m) MABARD by SIDEI (o IDBI Dank dy EXIM
Bank

53 Hanks in their daly bosiness face vimous kinds ul
risks. Which of the following is one such magoer ris

(i) Customer risk oh) Goodwitl risk (0) Prteotion o
(b Ohperational risk
24, Special Drowing Bighns' are the n

cotnirizs provided Do

fa) World Bank by eME {00 ADRE (o) FederalBegenses
35, Which of the following schenmes is lming by the
Gove. of lndia to ree  frim
huirments angd Sloms? .

i) [mdics Awae Yojana b Rujib Aw@jmr: e Ciram
Swaraj Yojona td) Noac of thowg

36, Whal doces the leieer “57 d
ferm W TE" an oot whic
recently? *
fa) Maonew (b Mocul (o) b R 1] Munupuli-:ﬁ
37 Which meihuod of 'ln.'.;unl.a.l‘.iul't of coneeibltiicn
uf @ sedntion iv Jmle it ool Tennproratare

iy Mulaliny th) fe) Normality odi None of
U

I8 What s e
Al Khan cefe
() T adivr
300 A con 3
endd of wny fnunciul yeor leads 1o erosion of _
its metwoernh,

() 23% (o 50 (23 755 (dy 100%

an, Which of the following = aol an instrutnent of
setective credit contral?

(2] Rutioning of Credit (8 Variable Cash Redcrve
Ratio (¢ Regulmivn of Consumer Credit 1d) Margin
Foguiromenis

41, India asked which ong of the follewing mawion 1

make Inchian ool

¥ the abbrevisned
wable in India all

it which Ustad Bade Ghulam
il

tiwla (o Lucknow (d1 dvone of these
is ‘swck” when accumulated loss at the
al

brng 0 o owliowl  anti-prressy legislotwn T
Cinvestgation and prosecution of suspecled prries”
g Samalia (b} China (¢ Cihana d) Migeria
A2, Dow Chemicals whose sponsorship o the Lomion
Olympics was highly protesicd oo Todia s e porznt
wompany of;
{ay Union Carbide th) United Plusphoros (e Elisalae
1) Vodafone
43, Plunoing Commission has lowersed e poverts lins
froon Rs. 32 per day v
(ap Bs. 30 per day (b Re. 2¥ per
(dy Kz 25 per day

44, Whn among the folloy
participation of  MMahato |:|i

Rs, 26 per doy

I elenominced) the

in thee Edulafan
Muowement?
tay Shaukan Al () M A D i bl Kalan Auead
l."d‘.; Mobammad Al ’

A48, Indud vecenily &

o i gt L]
m‘l tax treary with “Unaguny”.

Afriva ) Burope (il Narth

> folbowing 05 the curreney ol

san L) Byat [y Hubel
winbad Indusirial corridor project will

t\‘&ﬂmﬂ (hy Two stares (e Fve sates GH Seven
}JI!IIJL'IJ Wildlife Suiwtuaiy i Jocated ia whech

¥ .
a1 Kevala (b Kamataka i) M Pidi U P
49 Farendas are the collective srate 1anns of coffies in:
fad Brazil ib) Cuba {c) Argentina id} 51 Lanka
A0 Who his been homaored soirh Hab D Yhansamiar
Award:
AT Anupam Kher (b VK Swcpeth (o™ K b 0l
5 Vasudava

English
Directions (51 to 63): Newd the foilowog passage
ceorefeelly and deswer e gleestions ey fedion.,

Abraham Lincoln was the 16th presiden of 1he
Linited Starcs of Amenca, ITe began s Jife o nwsdea
circmmstanees, He was the second child of Thomas
Lancoln. a carpenter and Naoncy Hanks Lioceln, wlwe
lived on o Lo near Ellzabah town Kentueky

In 1816 the Tamily moved o Deliann Lile in
Indiana was more demanding than in Kenpuo sy, Young
Abrabumn Lincoln had to work on bis Dather s Carm, e
sehdom aeaded schoal, Two sears lawen his nwother
dhced sinlddendy, A veur fster Theaoas Lcoln maunied
Sarah Bush Tohosen, o widow sith theee clildoean, She
Tosked after the entire family very well, He owed 1o
leer s0 amuch i his pucswer of veading extensively.

In 1830, the Lincoln family moved (o the Thneois
Abraham Lincoln was then 21 years old, rll aml
powerfully muscled. Lle worked as o fonce-baolder, as
a flar hoat creveman om the Missisippi iver aml fnalls,
setrling in New Salem, as i dorckeeper amd o postinun,

Druring his stay ul Mow Salenn b entered polities!
Though e =udlersd deleat once, e was clected o e
Minois legislutuee lowr tmes. He studied law and
bepan practice in 1836, He formed a law partnership



with William H Herndom in Springficld, capital of
Mincis. He became known as a skillful and very
intelligent lawyer.

In 1842, Lincoln married Mary Yodd, who was well
educated. Lincoln was drawn into the political issues
of the day. The most important was the spread of
slavery, He personally hated slavery. He was a popular
speaker. He was elected to the US Congress on the
Whig Party ticket in 1846, In 1854, he strongly
opposed the Kansas-Nebraska Act, which has given
great power to slave holders, He parted with the Whig
Party and joined the newly formed Republican party
and become its leader in Illinois.

Lincoln contested in 1856 and lost election but his
personality and agruments on the issue of slavery won
favourable attention across the nation. When the
nation was split on this issue, in 1860 he won the
presidential election as Republican.

By 1862 he realised that blacks could join his army
only if they are freed. Moreover, he wanted the suppon
of Europeans and other foreign nations who opposed
slavery on moral grounds. On Jan 1, 1863, Lincoln
issued emancipation . which freed all
slaves in rebel states of Scuth. This helped turn the tide
in the Union's favour.

His "Gettysburg Address” in 1863 showed Abraham
Lincoln's grief as well as his firm and bold attitude in
taking some hard decisions to re-unite American
states. In the meantime, he was re-clected for the
presidential post, He made his second inaugural
address in March 1865, It threw light further on his

{a) A only (b) B only (c) Both A and B (d) None of
these

54, A Lincoln's personality and arguments on the issue
of slavery caused a favourable attention through the
nation.

B. Lincoln won the presidential election in 1860 as a
Democrat.

{a) A only (b) B only {(c) Both A and B (d) None of
these

55. A. Lincoln issued emancipation proclamation,
which freed all slaves in rebel states of South, in 1863,
B. His attitude against the practice of s earned a
great deal of applause among mv—“a{s *Congress
members.

{a) A Only (b) B only () Both A dY None of these
56. A. He made his second i dress in March
1865, L

BE. In his second addressylc thi light further on his
will to work for a just mcﬁaung peace.
{a) A only (b} B only (¢) Both A and B (d) None of these
57. Which was meﬁum gave great powers (o slave
holders? "'ag «
(a) Slwchuld:{w_ ct {b) Emancipation of Slaves
Act (¢) Dutiés of Slaves Act (d) None of these
5% Who was the wife of Abraham Lincoln?
() Sargh Lincoln (b) H Herndon (¢) Mary Yodd (d)
l{cr}ﬂte Lincoln

%rfﬂﬁi; many times was Lincoln elected to Illinois

slyur:"’

{aj Four times (b) Two times (c) Five times (d) MNever

c*il} When did Lincoln start practice as a lawyer?

will “to work for a just and lasting peace.” Five w lft mfa,‘l 1830 (b) 1836 (c) 1842 (d) 1816

later the rebellious Southern states surrendered. '\ ")
Before he could reconstruct the American nion,
he was shot dead on April, 14,1865, while Dﬁés@em
Lincoln and his wife were at a play in a gl
Though Abraham Lincoln led the naf rough
the biter struggles of the civil war, ‘li"; hds come to be

recognised as one of the grea acemakers in
American history. He used his ge wit, simple
common sense and love for d; ¥y to preserve the

Wmion, b

Directions (1 to &) /n eﬂf}ﬁﬁesnm there are two
statements. Find our Mﬁc‘h afitie statements is "TRUE"
on the basis of passa *

51, A A.b:ra.ham :ﬁ‘- was the second child of
Thomas Lincola,: %w‘ufcn:er and Sarah Bush Johnson.
B. Mr. A Ling as very annoyed with his step
maother. "1.

(a) ‘A’ uw@ﬁ E only (c¢) Both A and B (d) None of
these

52. A. Lincoln moved to Indiana along with his family
members in 1816,

B. His mother died two years after their shifting to
Indiana.

{a) A only (b) B only (c) either A and B (d) Both And
and B

53. A. Lincoln was first elected to the US congress on
the Republican party ticket in 1846,

B. His ‘Geuysburg Address” in 1863 showed his
{Lincoln’s) grief as well as his firm and bold attitude in
taking hard decisions.

Direction (61 to 65): Choose the word or group of
words which is most nearly the same in meaning as the
words given in capital letters.

61, EMANCIPATION

‘a4 Freedom (b) Surrender (b) Rebellion (d) Slavery
62, SPLIT

‘ay Divided (b) Parted (¢) United {d) Collected

“63. OWE

(a) Obligation (b) Loan (¢) Sympathy () Be indebted
64, PURSUIT

{a) Auempt (b) Follower {(c) Approach (¢4 Follow to
get things

65, PROCLAMATION

(a1 Declaration (b) Propagation (c) Acceptance (d)
Advertisement

Direction (66 to 75): fn the following passage there
are blanks and each of which is numbered. These
numbers are printed below the passage and against
each four options are sugested, one of which fits the
blank appropriately. Find the appropriate word in
each case.

The prices in the domestic 66 continue to rule high in
the 67 vear despite the expectation of a 68 production
as compared to the previous year. According to a
preliminary assessment _69  on the weather _T0 in
recent months, tea output in the next year may reach
740 million kg. as 71 700 million kg. last year. During
the past three months, tea prices have generally shown
as _ 72  unlike last year, when tea prices rose
dramatically, this year, prices seem to have 73 at a



Model Practice Set-1 for IBPS RRB CWE 2013

rather higher level, In the subsequent four months, the
74 average price showed a downtrend but  in
Seprember, the prices have _75  hardened o a
considerable extent,

66, <) market (he area (o) sector (dy profin

67, (o) last (b cuwrrent (o) first (d} second

6. (1) lower (b fiigher (¢} large (d) oprimum

69, (a) shared (b) carried (&' Based (d) siraegy

70, (e, conditions (b) pattern <) [erccast (d) outbreak
Th. (o against (h) 1o (e per (d) above

T2, (a) upgrade (b uptrend (o) reduction (d) increment
T3, (a) surfaced (b} moderated ‘e stabilised (d)
increased

T4 (o) annual (b daily (c) weekly (g monthly

T3, (a) now (b} since (rd again (d) then

Dirvections (76 1o 85): Read the sentences given below
aned find our wherher there is any ermr fn i,

T6, We found it dilfical mmu across (bafthe road. (o)
Mo error (d)

77, 1 have been looked ffor vou (b)ievervwhere, ()
Moy error (d)

TE. Mahotma Gondhi laboured (apto the good [I},.n'u.t
humaniry. (¢WNo crror (d)-

79, Please pul away, #akthe candle :hj.l"l':u:ium yiuL
leave feWNo crror (d)

B, The man g fean not live (b'by bread alone. (cNo
cpror (d)

81. He ducked its head (g when the (byball went by,
{c)™o error (d)

82, Manas loves his brother (avbut hines (hivher sister,
(aa/Mo error (dy

23, Although we reac hr.n:f his house on time (ivhe w .H' .

left fleyfor the airport. {(c)fNo error (d)

84, Rich can get away (g Wwith money and Lml..,lﬂs .

(hybut the poor have cither. (cWMNo crmor d) W J
85. He says he isfunzoing (o (hy/Mumbai Lmng]ll‘ ey
Mo errorf{d)

Directions (86 1o *M: Mark the .c.q'lrg'r_:'u |.-|'I|:'¢-I| i%
necrest te the waords wunderlined, = '.

6. 1L is no wse 1o ey over spilt 1L1|}kL |ua.l lr» again with
added vigour and courage. 4 ¢

(a) To be <ud for one’s loss,tay, Iu weep instead of
trving (¢ To be agarie '.t_d overan irrevocable loss (d)
None of these

87, Dropping namesy nu:m i eam success all the time
for you.

(2 To rank dﬁ'ﬂln fh] Reference 1w one’s high
connections (o) ljt:rm_ demoraliscd (dy None of these
8. Personsalywo different generations are nearly
found seeing eve (o eve.

(a) To agree with someone (b) To =see angrily (c) A
serious look (@ To stare at

£2, You will have 1o repent on your habit of missing
classes for the sake of your duck diamond.

{ad A rare diamond by Desire for diamond () Love for
natural beauty (4 One’s beloved

), Only a few Indians find themselves making their
bkoth ends meet cosily.

(a} To live comfortably (b) An easy survival ()
Income over expenditure (g8 Balanve o income and
expenditure

Directions (971 to 95): Ford the soereble wordferoup of

wends from the oprions given o replace e words
uneriined.

21. He has very good command _on_ English,

L, of (b) over (o) in (d) No improvement

92, Don’t forget to welephone me atter vou reach Delhi,
{a) Shall reach (b) You have reached (o) Would reach
{1 Mo improvement

93, Little that 1 knew of the English language. was not
sufficient to make me u teacher of English.

(a) Very linle (' 'The linle (c) A Hile (d)y No
improvement

94, Who does not know that this was broadeasted ten
days ago?

{a) had broadcast (W  was h]{};“.lj};lhl () was
broadcasting (d) No improvement

95, Since 1986, there je no earthguakes here.

(a) were being (& have hc{n |._q are () Mo
Improvement

Directions (9% 1o 1M): R&'uhurt.r: the sentences
given below in o wdb wihich wenld  meke  an
appropriate and mea@ e paraeramh. Then answer
the questions giverdclaw

AL Miss '-iu]l'n.m' .',m"i\cl! at the Keller home when
Helen was sev en

*B. The deat &'nr.T hﬁm[ Helen learned to conmunicate

verbally. |

C. But ghenpuilly. Miss Sullivan’s effort was rewarded.
D. B(‘fu:l't-l'!;:lf:n Boeller was two vears old, she lost her
sight and her hearing.

E. q‘l}lﬂ'\ Sullivan worked closely with Helen, her new

“student -
L AL times, the teacher became rustrated

96. Which of the following should be the first senience
in the passage?

(@) A (b Bic)Crd, D

97. Which of the following should be the last sentence
in the passage?

A Be)Did E

98. Which of the following should be the fourth
sentence in the passage? '

B (b C () E(d)y F

9. Which of the following should be the second
sentence in the passage’!

(ay A (L) Cic) D{d) E

106, Which of the following should be the third
sentence in the passage?

(A MBIEF

For more model practice sets for
IBPS, SBI, RBlI PO/Clerk/RRB exam
visit -
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General Intelligence
I41. *Captain’ is related to *Soldier’ in the same way
as ‘leader” is related to:
(a) Party (b) Vote (c) Minister (¢) Follower
142. Pointing to Atul, Punam says, ‘He is the son of my
grandfather’s only son.” How is Atul related to Punam?
‘A’ Brother (b)) Cousin (¢) Uncle (d) Data inadequate
143. Mukesh ranks sixteenth from the top and
fortyninth from the bottom in a class. How many
students are there in the class’?
(a) 63 (b)Y o4 () 65 (d) 66
144. ‘Lead’ is related to *Pencil’ in the same way as
‘Ink” is related o
(a) Stamp (b) Colour () Pen (d) Paper
145. In a certain code “GIVEN" is writtéen as
‘MDVIH™. How ix ‘SHAREK® written in that code?
() JSAIT () JOIAT (<) JOATT (d) TIAQT
Drirections (146 to 150): Srudy the following informea-
tion carefully and answer the guestions given below,
PO R S T U V&Ware sifrting in a circle facing the
centre., T is second o the left of U and thivd to the right
af P Q is rhird to the righr of V. whea is nor an
immediate neighbowr of T or U, R (s seond rto the right
of Q. 5 is on rthe immediare left of Pand third 1o the (eft
of W, ,.
146. What is U’s position with fespect to V7?7
(a) Third. to the left (b) Third to the right (¢) Fifth o the
left () None of these 7
147. Who is fifvh 1o the right of R7?
(a) W (b) V (@) T () Q
148, Who is third to the left of T2
(a) W (b) S (¢) V (d) None of thesc
149. Wheo is on the iunmediate right of P?
(ay W (b3 W (c) S (d) DData inadequate
150. In which of the following pairs is the first person
sitting on the immediate left of the second person?
(i YW (b)) QT (c) UQ (d) None of these
Directions (151 Lo 155): Read the following informca-
rion carefully arnd answer the guestions which follow.
‘A o Zmeany A is the wife of 2
‘A x Z' mearns A s the husband of Z.°.
‘A =+ Zmeans A is the sister of 2
A Z' means ‘A is the brother of Z.°
‘A = Zimeans A dLs the son aof 2
‘A== ' means A is the dawghter of 2.7
151. How is M related to B if "AxB = Z = 5 + M™7
(a) Aunt (b) Uncle {(¢) Cousin {(d¥ Can not be determined
152. How is Prelated to F if QO =xP =B + F*?
(a) Daughter (b) Niece (¢) Aunt (d) Granddaughter
153. Which of the following means “P is the father of
| 5y
(A R =S<=P=+=Jb) J+ R —-—S=Pieg) R=5 «F — 1 (d)
S+I=R=P :
154. Which of the following relations will not be true
if the expression ‘A = P »x T + F = L. XM’ is definitely
true’?
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{a) A is the daughter of T 4b) F is the son of M (c) P is

the son-in-law of L L A is the cousin of F

155. Which of the following means N is the daughter-

in-law of AT

M+ NesP=AbINaM=xP+ACIM-N=xP<

AldiA<=P+N=xM

Directions (156 to 160): fn each guestions below is

given a group of leners followed by five conbinations

af numberfsymbol codes numbered a, b, ¢, d & e. You

have to find out which of the combinations correctly

represents the group of letters based on the following

coding system and the conditions and mark the

number of that combination as your answer

Letter: WM K U AQCFBRPIHTE
53 47 #%B6pF 3 02 8@

Conditions:

(i) If both the second and the fifth elements are vowels,

the codes for both these are to be interchanged,

(i) If the third element is a vowel and the fourth is a

consonant, then the fourth element is to be coded as

the code for the first element.

{iii} If the group of lenters containg no vowel, the codes

for the first and the last elements are to be interchanged.

156. AFWUCI ]

{a) THSHEE Thy #A5TRD (c) ©6578# (d) None of these

157. BWAFET

(a) B5#6@9 (b) BSHBE@Y (GBH#S6E I (d) BHSIEE

158, HPK'TMOQ) .

{a) 2+493% (b) %4932 (c) 24+93% (d) F=4932

159, UECTAP i

(o THRGE * (b) @+B9HT (c) = @ 89T (d) Noné of these

160, TEAQIM \

() SO (b) 968503 (o) #69%03 (d) Nengof these

Directions (161 to 165): In cach guestion below is

given a statement followed by gRpo Sassumprions

numbered [ & . An assumprion is samething supposed

or taken for granted. You howe 10 consider the

statement & the following (af®amprions & decide

wihtich of the assumptions i Tmplicis in the statement.

Give answer (a) if only gasswmprion [ is implicis,

Give answer (b)) if gl assumprion If is implici

Give answer (c) if either @ sumprion | or assumption {1

i5 fmplicir.

Give  answer W@l if  neither  assumption

assumption [ fEdmpelici.

Giive answapiel) if both assumprion [ & I are implicit.

161, Stdtement: Use our medicine o fight the

problemioaf obesity.

Assumptions: 1. Other slimming medicines available

in the market do not reduce weight.

11, Obesity can not be controlled without medicines.

162, Statement: Farmers must immediately switch

over to organic fertilisers from chemical fertilizers for

better vield.

Assumptions: 1. All the farmers use only chemical

fertilizers,

II. Organic fertilizers are readily available 1o the

farmers.

163, Statement: Take a ferry or a boat instead of a bus

te reach the Kravi islands faster.

Assumptions: 1. The islands being in remote location

I nor

are not easily accessible.

II. Ferries & boats are available to travel o Kravi
islands.

164, Statement: To save the environment enforce
total ban on illegal mining throughout the country.
Assumption: [. Mining which is done legally does not
cause any harm to the environment.

1. Mining iz one of the factors responsible for
environment degradation,

165, Statement: Banks should always check financial
ras before lending money to a client,

Assumption: . Checking before lending would give a
true picture of the client’s finangial status.

11, Clients sometimes mily ngt present the cormect
picture of their ability wifeploan amount 1o the bank.
Directions (166 to. 1700 in  these  guestions,
relationship berweel different elements is shown in the
statements. These stffements are followed by two
conclusions. Mark anrtswer if

(a) Only conglusion 1 follows,

by Only gomclu@ion 11 follows,

() Either gonclusion 1 or 11 follows,

(d)y Meithér conclusion [ nor 11 follows,
(eyBatheonclusion 1 and 11 follow.

166, Statement: P2 Q=R =>5=T

Conclasions: L. P=T L. T=40Q

167, Statement: L=M<=N=02=F

Conclusions: . O <M ILP =N

168, Statement: A =B =zC=D<E

Conclusions: . C < A iLDse

160, Statement: H=J=KzL=>T=<V
Tonclusions: 1, K =T ILL=H

170. Statement: AzB=C,D>=C=E

Lonclusions: 1 E > A Il A =T .
Diirections (171 to 180): In each of the gquestions
given below which one of the five answer figures given
below should come after the problem figures, if the
sequence were conltinged?

171.
#| sk o[ ®
() (k) fet (dy {e)
172
tal. (b} ch (d)y (e}
173, _
py T ’Ia‘ -
A x
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+ ¥ h > w ¢ Lo
(a) (b (c) (d) (e) (a) (k) (<) (d) ie)
174 180,
> Y T T T z c = e z %
<, > s Pl ™ mz oA z|z sle 0
vl SNAAy A = A 0
= F = —
4, : A ..;I -\ \: 4\ -',"ﬂ \')* *“',(\ Z ez .|z ez : Z -
AR BANKIRAY SRS STAY S| [0 x|+ o  ofx s 0
(a) (b} ) () (e) (a) (b (& it (€}
175.
T+ T T _|T¢t
| IR
Y T i 2 k '
JIT |L1 |A+ |A+v |[A ¥ g
(a) by (© (d) . )
176.
Tk e [ 1
a (b (c) (d) (et |
: —— For more practice sets
\{:::,-' o ) { )) -L,..a_ ("" o
T 1 - T1..].~ forbank exams, visit -
« | ("’ (v} (~
WYY ST @ www.ibps-news.blogspot.com
csTuB uacs-rr{é'_igﬁ'ac BcsTultuBCS
cssuTtlsTUBclcsueTlesTuslsTBCU
(i) 1)) {ch fe (e)
179.
| | ||
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COMPUTER KNOWLEDGE

181. One of the oldest calculating device was :

(a)Arithmometer(b) ready reckoner(c)Abacus(d)none of these

182. When the pointer is positioned ona it is shaped like a hand.

(a) grammatical error (b) hyperlink(c) screen tip(d) none of these

183. The first computers were programmed using:

(a) assembly language(b)Machine language(c) source language(d) none of these

184.G3isa:

(a) Computer (b)Cable(c) Chip(d)none of these

185. Software quality assurance is for :

(a) Error prevention(b) Error detection(c) Error correction(d) All of these

186. In 2 tier architecture the client is called :

(a) Fat client(b) Thin client(c) Very thin client(d) none of these
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187. Two or more computers connected to each other for sharing information

forma:

(a)Network(b) Router(c) Tunnel(d)Server

188. In object oriented technology hiding the complexity of characters is called :

(a) Abstraction(b)Object(c) Inheritance(d) none of these

189. What is the term for unsolicited e-mail?

(a) New groups(b)Usenet (c)Backbone(d) Spam

190. Which of the following is single computer with many features and good

processing power :

(a) workstation(b) Mini computer (c) Micro computer(d) all of these

191. Network components are connected to the same cable inthe __ topology:

(a)star(b)ring (c)bus(d)mesh
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192. An example of inter networking is :

(a)MAN(b)WAN(c)INTERNET(d)none of these

193. Which of the following code detects and corrects error in data?

(a)Hamming codes(b)Windows(c) both of these(d) none of these

194. Which process checks to ensure the components of the computer are

operating and connected properly?

(a)Booting(b) Saving(c)editing(d) none of these

195. Micro computers could be made because of Joysticks :

(a)Integrated circuit(b)Protocols (c)LAN(d)none of these

196. Binary equivalent to 87 is :

(2)1010111(b)1010101(c)1110101(d)111001

197.8 bits put together make up a:

(a)Decimal numbers (b) bytes (c) data(d)none of these
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198. Small application programs that run on a web page and may ensure from is

completed properly or provided animation are known as :

(a)Flash(b)Spiders (c) both of these(d) none of these

199. Who can provide access rights to users?

(a) Data custodian(b)Management(c) The database administrator (d) none of

these

200. To stop unauthorized access to the computer systems we should :

(a) Have a trustworthy system administrator (b) Have a sound policy(c) Have a

good policy(d) none of these.
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Answers

1(c), 2(c), 3(a), 4(c), 5(b), 6(a¥, 7(b). 8(d). 9(d). 10(d).
11(a), 12(c), 13(c), 14(a), 15(d). 16(d). 17(c), 18(b).
19(c), 20(d), 21(a), 22(b). 23(a). 24(b1. 25(c). 26(c),
27(c), 28(a), 29(a). 30(b), 31(c). 32(b). 33(d), 34(b),
35(b). 36(d), 37(a), 38(b), 39(b), 40(h). 41(a), 42(c).
43(b), 44(d), 45(a), 46(c), 47(d), 48¢h), 49(a), 50(c).
51(d), 52(d), 53(b). 54(a), 55(a). 56(c). 57(d), 58(c).
59(a), 60(b), 614a—62(a), 63(d). 64(d). 65(a), 66(a);
67(b), 68(b), 69(c), 70(a), 71(a). 72(b), 73(¢), 74(d).
75(c), 76(b), 77(a). 78(b). 79(a). 80(a). 81(a), 82(c).
83(b), 84(a), 85(a), 86(c). 87(b). 88(a), 89(d), 90(d),
91(a), 92(d). 93(b). 94(b). 95(h). 96(d). 97(b). 98(d),
99(a), 100(c). -
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Answers 141(d), 142(a),
143(b), 144(c), 145(b), 146(d), 147(c), 148(d), 149(b),
150(a), 151(d), 152(b), 153(c). 154(d), 155(a), 156(b),
157(c), 158(d), 159(a), 160(a), 161(d), 162¢b), 163(b).
164(b), 165(a), 166(b), 167(d), 168¢e), 169(a), 170(c),
171(c), 172(a), 173(b), 174(d)-T75(e), 176(a). 177(c),
178(d), 179(b), 180(c),

181-C 182-B 183-B 184-C 185-B

186-A 187-A 188-A 189-D 190-A

191-C 192-D 193-A 194-D 195- A

196-A 197-B 198-A 199-C 200-C
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